1T6r(r)1p Series: [ 1. 4. 13. 3. 20.], erreur Mk 0 = 306.76149693311'0egp Series: [ 1. 4. 13. 3. 9.], erreur Mk 1 = 324.204984153
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T¢9mp Series:[ 1. 4. 13. 3. 6.], erreur Mk 2 = 330.53991836 _Temp Series:[ 1. 4. 13. 3. 15.], erreur Mk 3 = 334.882739414
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Te9np Series: [ 1. 4. 13. 3. 10.], erreur Mk 4 = 335.198937093_Temp Series: [ 1. 4. 13. 3. 16.], erreur Mk 5 = 335.626824988
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Temp Series : [ 1. 4. 13. 3. 11.], erreur Mk 6 = 340.104219883_Tem 4194
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Temp Series : [ 1. 4. 13. 3. 8.], erreur Mk 8 = 341.851723887 _Temp Series: [ 1. 4. 13. 3. 17.], erreur Mk 9 = 342.493656447
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